Unit 4: Linear Functions
Unit Review
Topics Covered:

1.  Slope of a line segment


* Slope = m = 
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* Parallel lines have the same slope


* Perpendicular lines have slopes that are negative reciprocals

2.  Graphing a line in slope-intercept form


* Slope-intercept form: 
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  (m is slope and b is y intercept)
4.  Finding the x and y- intercepts given the equation

Examples:

1. Find slope of the line[image: image3.png]



2.  Given A(-3,4) and B on the x-axis.  Find B if the slope of AB = 
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3.  Given A(-3,4) and B(2,7).  Find C on the y-axis so that AB 
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4.
Find the equation of the following line: 



	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


 

5.
Find the slope of the line passing through the points A(4,-2) and B(8,5).  




6.
A line with a slope of 2 passes through (3,4) and (5, y). Find y.






9.  Is this a parallelogram?
10.  Is this a right triangle?


P(-6,1), Q(-2,-6), R(10,2), S(7,9)

A(3,0), B(-4,4), C(-1,-2)


	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


8.  Graph the line with the given slope and point

a) m = -4/7; A(3,-2)
b) m = 3; B(-2,5)
c) m = 0; C(6,2)
d) m = undefined; D(-5,-1)

9.  Graph the following lines:


a)  y = x + 2
b)  y = -2x+ 3





c) parallel to line (a) with, thru (7,1)
d) perpendicular to line (b), thru (-6,2)

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


10.  Find the x and y-intercepts:
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11.
The speed of sound in air is a linear function of air temperature.  When the air temperature is 5o C, the speed of sound is 334 m/s.  When the air temperature is 25o, the speed of sound is 346 m/s.

a)
Find the slope of this linear function.






b)
Use the formula to determine the speed of sound when the air temperature is 0oC.




Extra grids for use.
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